

$$270,9 : 3 = 90,3$$

$$0,00068 + 9 + 94,818 + 20 = 123,81868$$

$$63,85 \times 9,1 = 581,035$$

$$86,935 - 4,36 = 82,575$$

$$\begin{array}{r} 3 \overline{) 270,9} \\ \underline{27} \\ 009 \\ \underline{9} \\ 0 \end{array} \quad \begin{array}{r} 90,3 \end{array}$$

$$\begin{array}{r} 63,85 \\ \times 9,1 \\ \hline 6385 \\ 574650 \\ \hline 581,035 \end{array}$$

$$\begin{array}{r} 1 \\ 0,00068 \\ 94,818 \\ 20 \\ \hline 123,81868 \end{array} +$$

$$\begin{array}{r} 86,935 \\ - 4,36 \\ \hline 82,575 \end{array} -$$

